Fold-down Qutfeed Table

By Chris Marshall

A small-shop delight, this project is a sweet upgrade to your shop’s centerpiece.

any new cabinet saws have
a side extension table, and
they’re a big help for

supporting wide sheet materials or
long workpieces when crosscutting.
But I use a table saw even more
often for ripping lumber. No cabinet
saws that I'm aware of provide a
means of support behind the saw
where I really need it. I've tried
using a worktable back there, but it’s
just one more fixture to get in the
way in a small shop, and, I've never
found a roller stand that provides the
amount of stability I want.

So, my solution was to build an
outfeed table that I can flip

Cover hoth faces of the table’s
core with sheets of plastic
laminate. Use spacers to

align the laminate and

pull them out one at

a time. Be sure to

roll the surfaces

thoroughly to

hond the

cement.

up when I need it and fold down
when I don’t. It mounts to the saw’s
back fence rail and sets up with an
extendable leg that props against
the cabinet. Ordinary barrel-bolt
hardware locks it quickly in the “up”
position, so I never have to futz with
the setting. It provides a 30"-deep
platform behind the machine —
plenty of room to keep long rip cuts
from tipping off into the nether-
world — and its triangulated design
is sturdy as can be. After five years
of hard use, the prototype for the
fold-down table you see here has
become an essential feature on my
cabinet saw.

Tailoring the Table to Your Saw
If you decide to build one for
your saw, first grab a tape
measure and size up your
machine. The parts in the
Material List on page 53

are suitable for a saw with 26" of
vertical clearance between the
tabletop and the dust port. Make
sure to adjust your table’s
front-to-back size, if

needed, so it won’t

interfere with the

dust port when

you fold it down.

I made my table

stretch  from

one exten-

sion wing

to the

other. You

could make yours even wider if
you like, but remember that the leg
should be relatively centered under-
neath for stability. I suggest
widening the leg to broaden its
stance if you make a substantially
wider outfeed table.

Building the Tahle
Get this project rolling by cutting the
MDF table core top and bottom
(pieces 1 and 2) to size and gluing
them together. Drive a brad through
each corner to keep the pieces from
shifting during clamping. It’s essen-
tial that the edges line up evenly.
Pull out your contact cement,
J-roller and spacers so you can cover
the top and bottom of the core with
plastic laminate (pieces 3 and 4).

February 2009 Woodworker’s Journal






Start with oversized sheets, and
bring them to final size with a trim
router and piloted laminate cutter.

A filler strip (piece 5), machined
with two small dadoes, tucks into
place along the front bottom edge of
the table core. The dadoes create
pockets for the leg pivot brackets
(pieces 6). Make the pivot brackets
first, rounding their ends and drilling
the centered 5/16"-diameter bolt
holes. Then, use the brackets to set
the width of the dadoes in the filler
piece so you'll arrive at a nice, snug
fit. Glue and screw the pivot brackets
into their dadoes, then attach the
filler strip to the core with more glue
and screws (see Drawings).

I wrapped hardwood edging all
around the table. It helps protect
the edges of the MDF and laminate.

Plow a pair of 3/4"-wide dadoes across the filler strip
to accommodate the table’s leg pivot brackets. Set
the width of these dadoes carefully so they provide a

snug, friction fit for the brackets.

Another important feature

is that the back ends of the

side edging (pieces 7) are
also shaped and drilled to form
“pivot hinges.” Here’s the best order
for completing and installing the
edging: First create the side edging
(see Drawings), then fashion the
table pivot brackets (pieces 10) so
you can round the ends and drill the
through-bolt holes in all four
pivoting parts at the same time.
Make the table pivot brackets about
a quarter inch longer than neces-
sary, and set them aside.

Now, glue, clamp and nail the side
edging to the core with 1'2" brads.
Mark and cut the front edging
(piece 8) to length, then glue and
nail it in place. Fit a strip of back
edging (piece 9) to the side edging,
and install it. Take the time to round
its ends on a disc sander so the
corners won’t become “gut busters”

Wrap the table with hardwood edging, starting with the side pieces (pieces 7), then the front and
finally the back. Secure with glue and pairs of 1'2" brad nails spaced approximately every 6".
Complete the edging by gluing and screwing the table pivot brackets to the side edging.

Fasten the pivoting leg braces to the leg’s
back panel, then glue and screw the heveled
guide strips inside this leg housing.

later on. Wrap up by cutting the
table pivot brackets to final length,
gluing and screwing them in place to
beef up the pivot points. Ease all the
sharp edges of the trim with a 1/8"
roundover bit, a file or a block plane.

Making the Leg

When 1 designed my original
outfeed table, I wanted the leg to
extend and brace against the saw
cabinet but also retract so it could
tuck behind the table when folded
down. As you can see in the
Drawings and photos, a telescoping
leg provided the functionality I
needed. The body of the leg houses
an extension piece, and the parts
open and close by what amounts to a
giant sliding dovetail.

Assemble the leg by gluing and
screwing the two side braces (pieces
12) to the back (piece 11). Since the
braces must pivot on the top ends,
first round them over on your band
saw, and step to the drill press to
bore centered bolt holes. Attach the
braces to the back panel so the

February 2009 Woodworker’s Journal



Table Assembly

(Section View)

8

5

Side Edging
and Braces
(Side Views) (End View)
16" R. ~ 35/\
@/S/ws" Dia

" .\

B

/A 1/2"-diameter,

* Two barrel bolts serve three purposes. The bolt underneath the table
Aol o Table [[-
prevents the leg from swinging uncontrolled as the table is tipped up dL
or down. The one on the leg keeps it retracted or extended for use. an eg M
Closed
(Side View)

Pi

117%46"

1”-deep hole in the
leg brace receives
the barrel bolt to

keep the leg Filler Strip

(Front View)

folded closed. @
L | L 10%" Il o
MATERIAL LIST
TxWxL TxWxL
1 Table Core, Top (1) 3/4" x 22%/4" x 42V/2" 13 Guide Strips (2) 3/4" x 1%4" x 202"
2 Table Core, Bottom (1) 3/4" x 19¥4" x 42V/>" 14 Extension (1) 3/4" x 6%:6" x 22"
3 Laminate, Top (1) 1/16" x 22%4" x 425" 15 Handle (1) 3/4" x 1" x 5%"
4 Laminate, Bottom (1) 1/16" x 19%4" x 42" 16 Bolts, Washers, Nuts (2) 5/16" x 2" (Nylon lock nuts)
5 Filler Strip (1) 3/4" x 3" x 42" 17 Spacer (1) 3/4" x 2" x 15%"
6 Leg Pivot Brackets (2) 3/4" x 3" x V4" 18 Build-up Strip (1) 5/8" x 2" x 4V5"
7 Side Edging (2) 3/4" x 19" x 26Y4" 19 Barrel Bolts (2) 6" Steel
8 Front Edging (1) 3/4" x 19" x 44" 20 Mounting Plate (1) 2V4"™ x 5%4" x 40%,"
9 Back Edging (1) 3/4" x 154" x 42/," 21 Lag Screws, Washers (5) 5/16" x 2"
10 Table Pivot Brackets (2) 3/4" x 156" x 234" 22 Lag Screws, Washers (2) 5/16" x 5"
11 Leg Back Panel (1) 3/4" x 9" x 20%>" 23 Leg Stop, Back (1) 3/4"x 2" x 16"
12 Braces (2) 3/4" x 1/," x 22" 24 Leg Stop, Bottom (1) 3/4" x 172" x 16"
* Adjust the thickness to suit your saw.

Woodworker’s Journal February 2009 53



S/Oa Cer

Mark centerpoints for long pivot screws on the ends of the mounting plate using a brad-point bit
tapped through the table pivot holes. Hold the plate and table apart with a couple of 1/2" spacers.

Clamp and then bolt the mounting plate to the
the saw’s fence rail with five 2" lag screws
and washers. Keep these fasteners well clear
of the miter slots you’ll need to rout later.

The leg stops here: it’s simply a wooden ledge
fastened to the saw cabinet with three short
carriage holts set into counterbored holes.

bottom ends of the three parts are
flush. Next come the guide strips
(pieces 13). Tilt your table saw blade
to 35°, bevel-rip the strips to shape
and cut them to length. Glue them
inside the leg housing with the
bevels facing inward. Drive counter-
sunk screws through the back and
into the strips to reinforce these
important load-bearing joints.

Cut the leg extension (piece 14) to
width and length, and bevel-rip both
of its edges at 35° so it fits well
between the guide strips. Aim for a
slightly tight squeeze at first, then
shave the bevels with a block plane
until the extension slides smoothly
into the leg housing. Glue and screw
a handle (piece 15) to the
extension. Now,
close up the
leg, and fasten
a barrel bolt
(piece 19) near the
handle: the “male”
side mounts to
the leg extension,
and the “female”
receiver piece goes
on the guide strip.

When the table is
folded down, this bolt
keeps the leg retracted.

Attach the leg to the table pivots
with bolts, washers and nylon lock
nuts (pieces 16). Next, cut the
spacer and build-up strip (pieces 17
and 18) to shape, and fasten them
together with one pair of their ends
flush. They serve as a mount for a
second male barrel bolt — it locks
the leg against the table and
prevents it from swinging loose
when folded down. Slip the spacer
between the leg and table and
position it 8" in from the back
edging. Screw the spacer to the table
and the barrel bolt to the build-up
strip. Slide the bolt over against the
leg brace, and give it a good rap with
a hammer to mark the bolt’s location.
Drill a 1/2"-diameter, 1"-deep hole
here to allow the bolt to slide fully
into the leg and secure it.

Mounting the Table to the Saw

Time to get this project mounted up!
Laminate a thick blank of lumber
together to form the mounting plate
(piece 20) that attaches to the saw’s
fence rail. Plane it down so the top
face will be about 1/16" below the
saw table when it’s attached to the
fence rail. Ease the front bottom

Hang the outfeed table from the
mounting plate with two 5/16" x 5"
lag screws and washers.

February 2009 Woodworker’s Journal



Use a pair of clamps to pinch the leg parts
together and hold the table up. Check your
table’s setting with a long straightedge, and
adjust the leg a little at a time until you arrive at
a nice, flush platform.

edge of the plate with a 3/4"-
diameter roundover bit to create
swing clearance for the table. You
may also need to knock a little off
the bottom back edge so the plate
fits snugly against the fence rail.
Sand all the table’s wooden parts
and the mounting plate up through
the grits, and apply a couple of coats
of wipe-on finish before proceeding.
When the finish cures, flip the
mounting plate and the table face-
down on a flat surface, and set the
parts together. Slip a couple of 1/2"-

Screw the second metal receiver next to the
first barrel bolt to set the open length of the
leg. The top receiver keeps the leg retracted.

thick spacers in between. Poke a
5/16" brad-point bit into each table
pivot hole, and tap it with a hammer
to mark the ends of the mounting
plate for pivot screw holes. Drill the
1/4"-diameter pilot holes 32" deep
and as straight as you can.

Bolt the plate to the metal fence
rail with five lag screws and washers

The author used a long slotted routing
jig, a rub collar on his plunge router and
a 3/4"-diameter straight bit to mill a pair
of miter slots into the outfeed table.

Woodworker’s Journal February 2009

(pieces 21) spaced evenly along its
length. Keep these screws clear of
the table saw’s miter slot locations.
With the mounting plate in place,
make up the leg’s wooden stop
“ledge” by gluing and screwing
pieces 23 and 24 together. Attach it
to your saw cabinet with three short
carriage bolts, washers and
locknuts. (I know, I know ... this is a
lot of holes to put in your trusty saw,
but it’s worth it!) I positioned the leg
stop assembly so the bottom face of
piece 24 is 12%" up from the floor.
Fasten the table assembly to the
mounting plate with a couple of 5"
lag screws and washers (pieces 22).

Final Fine-tuning and Routing

Grab a helper to give you a hand in
setting up the table with the leg
extended and propped against the
stop. Mark and trim the bottom
corners of the leg extension so it
nests completely against the leg
stop. Then use two clamps to hold
the leg extension and housing at the
correct length (see photo
above). Adjust and re-

clamp the leg parts

as needed until

the outfeed table is flush with the
saw table. Extend the first barrel
bolt and slip the remaining metal
receiver piece over it. Screw the
receiver to the guide strip to finalize
the leg’s “up and open” position.

I made a long, slotted jig and used
a1" 0.D. rub collar and 3/4" straight
bit to extend my saw’s miter slots
over into the outfeed table. A couple
of stops limited these cuts and kept
my bit from tangling with the saw’s
granite table. I chiseled away the
waste where the bit couldn’t reach.

Wipe finish into the miter slots,
and you're really ready to rip! Best of
all, those long rip cuts will never be
a seesaw operation again! 2

Chris Marshall is Woodworker’s
Journal’s field editor:.





